[08] WAt A—~EGE

X2 Tsil FABBAN)
NAtri— 448
NAt 23 —Hi 162
5 1R 5 Al 31
% Pl 187
RehA 115
=1L 203
ZHET 533
ftt 5 20
= RHT 131
EETE = DT 90
RIRET—T B 91
T BE&ARF 95
i far BT 115
F N ET 111
EMRAETT 86
EHBTER 44
WY AT 85
AMEEFR 48
A1z & 2 T —8] 28
i S T 5
i/ F 108
W/ TEE B ET 70
RILHE 75
Jb ZEET 147
ME—-TH 68
BEILBT—T B 168
HILET=TH 60
B P25 9 e A 355

201543 A

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

78.2

z

CO0O0000000
oRNWRUION©

FRE#R &

0.7

FRAERES

29%

71%

Nt i—~ AMAEESLT—H]

B AT ~ B R AT

-1/1-




